
1 .  Which of the following statements is correct?

A .  All natural numbers are whole numbers, all whole numbers are integers

B .  All whole numbers are integers, all integers are natural numbers

C .  All integers are whole numbers, all natural numbers are integers

D .  All integers are whole numbers, all integers are natural numbers

Right Answer:: A

2 .  
______. isinteger an  of  valueabsolute is .  where,3 --7- 5 7  of  valueThe ++

A .  0

B .  1

C .  2

D .  3

Right Answer:: C

3 .  The value of (­ 5) ´ (­ 4) ´ (­ 3) ´ (­ 2) ´ (­ 1) ´ 0 + 0 ´ (1) ´ (2) ´ (3) ´ (4) ´ (5) is ________.

A .  120

B .  -120

C .  240

D .  0

Right Answer:: D

4 .  Which pair of numbers does not have a product equal to 36?

A .  {- 4, -9}

B .  {-3, -12}

C .  þ
ý
ü

î
í
ì -72,

2

1

D .  {1, 36}

Right Answer:: C

5 .  3

2-
number  rationalA 

A .  Lies to the left side of 0 on the number line

B .  Lies to the right side of 0 on the number line

C .  It is not possible to represent on the number line

D .  Cannot be determined on which side the number lies

Right Answer:: A

6 .  

metres? 
4

3
3 measuringeach 

 long, metres 30 of rope a fromcut  becan  size equal of piecesmany  How

A .  8

B .  10
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C .  6

D .  12

Right Answer:: A

7 .  For any two rational numbers x and y which of the following properties are correct?

(1) x < y 

(2) x = y 

(3) x > y

A .  Only 1 and 2 are correct

B .  Only 2 and 3 are correct

C .  Only 2 is correct

D .  All 1, 2 and 3 are correct

Right Answer:: D

8 .  Which of the following statements is true?

A .  1 and -1 are reciprocal of themselves

B .  Zero has no reciprocal

C .  The product of two rational numbers is a rational number

D .  All of the above

Right Answer:: D

9 .  

_______. is +
2

3
x=

2

x-1
-2x-1)-(7x 

4

3
 that so x of  valueThe +÷

ø
ö

ç
è
æ

A .  2

B .  3

C .  1

D .  0

Right Answer:: C

1 0 .  

________.  toequal is then x ,
12

13
 

144

x
1If =+

A .  0

B .  12

C .  13

D .  25

Right Answer:: D

1 1 .  
______.  washimby   travelleddistance  totalThe boat.by  km 15

 remaining  theand busby th 
4

1
 by train, distance  theofth 

8

5
 velledperson traA 

A .  90 km

B .  120 km

C .  150 km
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D .  180 km

Right Answer:: B

1 2 .  If  7x + 3 = 17, what is the value of 7x - 3?

A .  14

B .  11

C .  0

D .  -3

Right Answer:: B

1 3 .  Which of the following is false?

                      

A .  Ð1 = Ð 2

B .  Ð1 + Ð3 = 180°
C .  Ð1 = Ð4

D .  Ð3 = Ð4

Right Answer:: C

1 4 .  In the given figure ÐPOR = 90° and OQ bisects ÐPOS, then the value of 2y + z is _________.

                                                     

A .  60°
B .  45°
C .  90°
D .  30°

Right Answer:: C

1 5 .  
ABby  denoted is AB lineA  :q

OPby  denoted is OPray A  : p

  true?is statements following  theofWhich 

A .  Both p and q are true

B .  p is true and q is false

C .  p is false and q is true

D .  Both p and q are false

Right Answer:: B

1 6 .  The angle between two hands of a clock at  4 : 30 pm is ______

A .  45°
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B .  90°
C .  180°
D .  60°

Right Answer:: A

1 7 .  In the given ∆ABC if AB = AC and BD = DC, then ÐADC = ______

                                   

A .  60°
B .  120°
C .  90°
D .  45°

Right Answer:: C

1 8 .  In ∆ABC, AB = AC and AD is perpendicular bisector of BC. The property by which ∆ADB is not congruent to ∆ADC is 
______.

A .  SAS property

B .  SSS property

C .  RHS property

D .  AAA property

Right Answer:: D

1 9 .  If the two legs of a right angled triangle are equal and the square of the hypotenuse is 100 cm2, then the length of each leg is 

______

A .  10 cm

B .   cm  25

C .   cm  210

D .   cm  213

Right Answer:: B

2 0 .  Which of the following statement(s) is/are true?

A .  In an isosceles triangle, the angles opposite to equal sides are equal.

B .  The bisector of the vertical angle of an isosceles triangle bisects the base at right angles.

C .  If the hypotenuse and an acute angle of one right angled triangle is equal to the hypotenuse and the corresponding acute angle of 

another triangle, then the triangles are congruent.

D .  All of the above.

Right Answer:: D

2 1 .  P can do a piece of work in 9 days. Q is 50% more efficient than P. The number of days it takes Q to do the same piece of 

work is ______.
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A .  2

1
13

B .  2

1
4

C .  6

D .  3

Right Answer:: C

2 2 .  A man buys a radio for Rs. 600 and sells it at a gain of 25%. He sold the radio for ______.

A .  Rs.700

B .  Rs.750

C .  Rs.900

D .  Rs.1000

Right Answer:: B

2 3 .  
_.__________ is shirts  theofcost   the700, Rs.

ofprofit net  a makes he If 20%. ofprofit  aat  sells he which pantsbuy  to

proceeds  theinvests and %
2

1
12 ofprofit  aat  shirts sellsman  businessA 

A .  Rs.2300

B .  Rs.2500

C .  Rs.2000

D .  Rs.2400

Right Answer:: C

2 4 .  The CP of 25 articles is equal to the SP of 20 articles. Then gain % is ______.

A .  25%

B .  20%

C .  30%

D .  50%

Right Answer:: A

2 5 .  An object is dropped from a small plane flying at a height of 1000 cm above the ground. As the object falls, d, its distance above 

the ground after t seconds is given by the formula below d = -16t2 + 1000. How far above the ground is the object, when it has fallen 

for 4 seconds?

A .  984 cm

B .  936 cm

C .  872 cm

D .  744 cm

Right Answer:: D

2 6 .  Simplify (a3 - 2a2 + 4a - 5) - (- a3 - 8a + 2a2 + 5)

A .  2a3 + 7a2 + 6a -10
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B .  2a3 + 7a3 + 12a -10

C .  2a3 - 4a2 + 12a - 10

D .  2a3 - 4a2 + 6a - 10

Right Answer:: C

2 7 .  

_______. is 
x

1
x 

x

1
x 

x

1
-x expressiongiven  ofproduct  tion thesimplificaOn 

2

2 ÷
ø
ö

ç
è
æ +÷

ø
ö

ç
è
æ +÷

ø
ö

ç
è
æ

A .  
3

3

x

1
x -

B .  
3

3

x

1
x +

C .  
4

4

x

1
x -

D .  
4

4

x

1
x +

Right Answer:: C

2 8 .  By how much is a4 + 4a2b2 + b4 more than a4 - 8a2b2 + b4?

A .  12 a2 b2

B .  - 12a2 b2

C .  2a4 + 2b4

D .  10 a2b2

Right Answer:: A

2 9 .  The value of ab - ba, if a = 3, b = 7 is ________.

A .  1825

B .  1840

C .  1844

D .  1850

Right Answer:: C

3 0 .  

?   
2

1
 

-1
2-

2

=
ú
ú

û

ù

ê
ê

ë

é

ïþ

ï
ý
ü

ïî

ï
í
ì

÷
ø
ö

ç
è
æ-

A .  16

1

B .  16

C .  16

1-

D .  -16

Right Answer:: A
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3 1 .  By what number should we multiply 4-3 so that the product may be equal to 64?

A .  45

B .  212

C .  26

D .  28

Right Answer:: B

3 2 .  Express 0.0084 in scientific notation.

A .  84 ´ 10-4

B .  8.4 ´ 10-3

C .  0.84 ´ 10-2

D .  8.4 ´ 10-5

Right Answer:: B

3 3 .  Calculate the area of the shaded region of the following figure. ABCD is a rectangle having length 30 cm, breadth 20 cm. E, F 

and G are midpoints of AB, CD and AD respectively.

A .  400 cm2

B .  450 cm2

C .  375 cm2

D .  325 cm2

Right Answer:: B

3 4 .  The length of a minute hand of a wall clock is 8.4 cm. Find the area swept by it in half an hour.

A .  100 cm2

B .  110.88 cm2

C .  120 cm2

D .  130 cm2

Right Answer:: B

3 5 .  The area of two circles are in the ratio 25 : 36. Then the ratio of their circumference is ______

A .  6:5

B .  3:4

C .  4:3

D .  5:6

Right Answer:: D

3 6 .  A horse is tied to one corner of a rectangular field, 60 m by 40 m, by a rope 14 m long. On how much area can the horse graze?

A .  150 m2
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B .  154 m2

C .  160 m2

D .  165 m2

Right Answer:: B

3 7 .  There are two teams A and B in a football match. A coin is tossed to decide which team starts the game. The probability that 

team A will start the game is ______

A .  0

B .  2

1

C .  1

D .  4

1

Right Answer:: B

3 8 .  Read the following graph and answer the question given below:

                                    

What is the percentage obtained by the student?

A .  80%

B .  63%

C .  57%

D .  90%

Right Answer:: C

3 9 .  Mean of first six prime numbers is ________.

A .  4.83

B .  6.83

C .  5.83

D .  7.83

Right Answer:: B

4 0 .  After rotating by 60° about a centre, a figure looks exactly the same as at its original position. At what other angle will this 
happen for the figure?

A .  120°
B .  100°
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C .  150°
D .  90°

Right Answer:: A

4 1 .  Find the appropriate figure from the answer figures so that question figures form a series.

A .  

B .  

C .  

D .  

R ight Answer:: B

4 2 .  If A is B’s brother, B is C’s sister and C is D’s father then D is A’s

A .  Brother

B .  Sister

C .  Nephew

D .  Data inadequate

Right Answer:: C

4 3 .  A die has A, B, C, D written in a clockwise order on the adjacent faces and E & F at the top and bottom respectively. When C 

is at the top, what will be at the bottom?

A .  B

B .  A

C .  C

D .  F

Right Answer:: B

4 4 .  Two hours later would be as long until midnight. What time is it now?

A .  18:30

B .  20:00

C .  21:00

D .  22:00

Right Answer:: D

4 5 .  Ram and his mom are baking cupcakes. The recipe calls for one egg for every dozen cupcakes. Ram finds five eggs in his 

refrigerator and makes a chart to see how many cupcakes he can make.

     

Eggs 1 2 3 4 5
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Cupcakes 12 24 36 48 -

What is the missing value in the chart?

A .  17

B .  49

C .  60

D .  72

Right Answer:: C

4 6 .  Ela can run 100 metres in 20 seconds. If she competes in the 400 metres race, about how many seconds will it take her to run 

the race?

A .  5 secs

B .  4 secs

C .  80 secs

D .  20 secs

Right Answer:: C

4 7 .  Choose the expression represented by the model.

 

A .  16 ÷ (­ 4)
B .  16 ÷ 4
C .  ­16 ÷ 4
D .  None of these

Right Answer:: B

4 8 .  What kind of answer results when a rational number is multiplied by zero?

A .  The answer is zero

B .  The answer is the original number

C .  The answer depends on the original number

D .  The answer is the opposite sign of the original number

Right Answer:: A

4 9 .  

?
3

2

2

1
  expression  therepresentsbest  modelWhich ´

A .  

B .  

C .  

D .  

Yagna Mock Test (www.yagnainn.com) Page 10 / 11



Right Answer:: A

5 0 .  How many rectangles are there in the given figure ?

                                                     

A .  6

B .  7

C .  8

D .  9

Right Answer:: D
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